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. FINANCIAL ACCOUNTING -1.
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Time — Three hours

The figures in the margin mdlcate full marks
for the questlons

Answer either in English or in Assamese.

Wwwmﬁm@i@@w.

1. (a) Fill up the blanks : = | 1".5:5
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(i) To bring to light important information

in the financial statement - principle

ls observed '
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(i) Debtors ledger adjustment account is-

opened in ledger. .
IR ARoT FCarE Bplel — WfoTHe

e I/ 2|

(iii) In case of Hire pu;'chase, Asset account
is debited with —— price. ‘
SIGl FTS cm— wr%fism — e
cvﬁl? W *

(iv) Under Instalment purchase system, the
seller treats the transaction as a
sale.

RfeTs T mRe wlNe, Qe
@Al — R& I@# a9 ||

- (v) Shortworking is the excess of Minimum
Rent over ——.

ekl

(b) Write the meaning of the fbllowing © 1x5=5
worw fraiRees oy forat 8
(i) Patent Royalty |
(OI5T TIH
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(ii) Accounting Standard
Tepieom W

(iii) Hire purchase Iirice '

(iv) Sub-lease under Royalty Account
g oo SN So-Aw

(v) Dual aspect principle of accounting.

fiﬁt‘?ﬁ RARR TS|

(a) Write two hrmtatlons of Accounting Stan-

dards.
Rptor TR 1131 Mot ot

(b) Mention two advantages of Hire Vendor

under the Hire Purchase System.

wwmwmm’iﬁ&ﬁm

| T =i |
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Write answers to the following questhnS in
short : . : - 2x5=10




(c) State two featurés of Self Balancmg ledger
~ system. :

mzw@%@ﬂf%m?ﬁf%a@tm%ﬂn.

(d) What is the sxgmﬁcance of Royalty Suspense
Account ?

Fe 2S fploe SRl & 7

" (e) How does Sectional Balancing help in
* internal check system ?

Ww%w@@qm&t
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3. Answer the following questions 5x4=20
wete faat TR Teq fomat ¢

(a) Explain with examples Accrual Assumptlon
of Accounting Principles.

2t MO ~91 Tgo  SfSuem :‘m%
Ruesor e T

Or/WQRIT
- State- the nature of accountmg lnformatlon _

fapto w2 aﬁwﬁml
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(b) Give rectification entries under Self balanc-
‘ mg system for the following transactions :

. B 2V4x2=5
©TS A TR A TR TGRS E TS
gE-ugsf RS e
(1) Sales Day Book undercast by Rs. 2,000.

mﬁ-ﬁaﬁsz,ooowmﬁm
AL EGh!
(11) Sales to Ram Rs. 2,400 was entered in
the Sales Day Book as Rs.4,200.
T w9 2,400 o B, few WO
4,200 St Jfer Tt =l '
Or/WQHT

Mention the dlsadvantages of Sectlonal
" Balancing ledger. ‘

Wwwmwﬁw
qu '

(¢) Mention the obligations of hire-PUfChasef
under Hire Purchase Act o -
T i SEER STe-Ee W
W =i |
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(d

- Or/sigat .

-

Give five distinctions between Hire Purchase

System and Instalment Purchase System.

sl

State the manner of recoupment of short-
workings under Royalty Account.

T o SIS WHERRT oot it
$q9 ST oAl |

Or/ @QﬁT

The N E Ltd. is 4 lessee of a coal mine on

~a royalty of 50 paise per ton of coal raised

with a minimum rent of Rs.30,000 per
annum and has power to recoup shortworkings
during the first five years of the lease. The

- output for the first three years was 5

follows :

aﬁwwaﬁmm@rm 2. e
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Y'ear. @ | T“_onl )
Ist (22w) 15,000
 2nd (RER). 50,000
3rd (TE) 75,000

You are required to prepare the Statement
showing the calculation of shortworkings.

WHeaFer ol IR O e

4. Name the different parties interested in accounting
information and explain why they need it. 10

RE1I AR @S wes) AR w1 ol oI,
-mmﬁﬁtﬁ?@mwa%ﬁmwﬁwﬁﬁ“

Or/ AL
Descnbe the authorities involved in formulating
accountmg standards in India. 10

Wﬁmﬂawmm@fww‘w
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5.~ From the following particulars of a tradet; prepare
the General Ledger Adjustment Account as Vf’lll
appear in the Debtors Ledger under Self Blancing
system on December 31, 2018 - 10

3/4 (Sem-1) FAC-I ) [Turn over




TS fiml o e e o 31 for R, 2018
R TR ek AT Awfes wfie oEmie
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Janvary (@) 1, 2018 Rs, (3a)
' Debtors Ledger Balance T 62,710
Provision for Doubtful Debts | 1,720

W W AR A AR
December (%CF‘N) 31, 2018

Sales (R ; - 1,08,290
Bllls accepted by debtors 14,430
c ARt et w4 R | |
Bills dishonoured 54
Cash and cheques received
from customers . : 88,625
AV @]l Colrt

e Bl S 4o |

* Cheques dishonoured 220
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Rs. B=D).

Goods returned by customers 4,710
Trapsfer frpm Bought ledger. ’.780 |
Bad debts Writteﬁ off | 1'6'10
SERTE W SRR | -
Cash. discount allowed A . | 2,460
RRLE e o

Interest on customers 6verdue account . 330
W G A e RpieE. @oTS AT
Sundry charges debited to cﬁstomers 1,220
AT NS (eRE F9t RRY IH |
Bad debts previously written off, '
now recovered. =~ |
SRS 3 SR W e
| Or/s2a -

From the following particulars,
Debtors Account and Total Cre
under Sectional Balancing ledger system -

: . 5+5=10
o A e o e

850

prepare Total
ditors Account
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‘ Rs. (G=)
Opening balance of debtors " 30,000,

Opening balance of creditors 123,000
Credit sales - 27,000
Cash sales ' - 13,000
Cash purchase : 9,000
ol @

Credit purchase ‘ | 14,000
Cash paid to the creditors - 16,000
sfeamies & ARG - |
Cash received from the debtors 22,000
e ol g

Discount allowed by the creditors 500

i e
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Rs. (G3)

Discount allowed to the debtors = 750

Sales return (R&T fFae) 200
Purchases return (&% @1e) - ' 1,000.‘

~ Bills payable accepted C 4,000
Bills receivable received 2,500
oo R ey |

- Bills receivable dishonoured | 500
elisly R eregaiT |
Interest chafged on dishonoured bill - 10
Bad debt | . , 600
SRR A |
Trade discount . | | 2,000
Transfer from one ledger to another - 500
<O AT ~fal Y B GRS '
Bills receivable endorsed 1,200
ell=fy R zwie ‘
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Rs. A(W )

" Endorsed bills dishonoured " 500
Bills receivable discounted 2,000
ety et AlGIge . B
Provision for bad debt. 1,000

SEATE W0T SR 9@l

6. On lst April, 2012, Mr. A purchased a machine
on hire purchase system and paid Rs. 10,000 as
down payment and agrees to pay the balance in
four annual instalments of Rs. 14,000, Rs. 13,000,
Rs.12,000 and Rs. 11,000 payable on 31st March
each year. The vendor charged interest @ 10%
p.a. Mr. A provides depreciation @ 10% 'p.a, on
machine under reducing balance method.

Ascertain the cash price of the Machine'and
prepare the Machine Account in-the books of
Mr. A. ' 6+4=10

2012 579 1 <RieTe A STl = ~F=fve <t cifew
@7 PR 10,000 Bl Feat weal AR SR o
@ AFRE 14,000 B, 13,000 T, 12,000 T -
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=I1% 11,000 51T 5IfRG 2R Ry ot afe a=x
31 =16 e sRciy 3Ree TS ficet | Reweiz
ofS I=FT AR 10% T T 4G I AR =W{
10% T<@ @S@ﬂw 9@%@ cafﬁiﬁ SR TGN
IR

mﬁaﬁaﬂﬁwwﬁaﬂqwmﬁ Aaa%w
i Bt et

Or/ Wﬂﬁt

What is Instalment Purchase System 9 What are
the . special features of Instalment Purchase
System ? : . 3+6=9

B @ a2 B @ ol RoR
W R

7. A company acquired a lease of a mine at a
minimum rent of Rs.10,000 per annum. The
royalty ‘was fixed -at Rs. 0.50 pei' ton. Short-
workings could -be recouped within three years

- following the year in which the shortworkings
occur. If there-is stoppage of production due to
a strike in any year, the minimum rent would be
proportionately reduced in regard to the length of
the stoppage. The output (in tonnes) of the mine
was as follows : | |
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- @B @A IR Paes 10,000 T ST [T
@51 A Teis et | @S 59w 0.50 BT T
3 T foove =fesad T7 wifte | ke IR
Bl I T PAON OYl, IRNZ A/ R
' ,wmmmmﬁﬁmmmﬁmﬂ—ﬁﬁ%ﬂ— :
@[ 3

Year | - Output in tonnes

I=R) (Beotva %?l_)
2013 | 8,000
2014 12,500
2015 21,500
2016 | 26,000
2017 - 17,000
2018 30,000

During 2017, there was a strike lasting for 3
months. Show Royalty Account and Shortworkings
Account in the books of the company for each
of the year. : .10

2017 5°< IS 3 T AR 466 W3fee | eoars -
ofS IZTT IR TG oot Qe wozg ool
wiiw WPeIRR Boivt ems TR ot | '\
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Or/sig=t
(a) Why is the Minimum Rent Account opened

in the books of lessee ? 5
Wa@@mwﬁmﬁ @smtaiw
| 2 ‘

(b) What will ‘be the Vaccounting treatment - of
Royalty in the books of lessee and in the
books of lessor ¢ - . 243=5

plotemme RR o e & = ¢
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